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QUESTION 1

Aggregation is automatically applied when building a dimension. Which of the following option is the basis for
aggregation? 

A. Formats 

B. Rules 

C. Attributes 

D. Hierarchies 

Correct Answer: D 

 

QUESTION 2

Which of the following can be used to load data directly from Microsoft Excel? 

A. Processing worksheets 

B. ODBC 

C. Rule worksheets 

D. ODBO 

Correct Answer: A 

 

QUESTION 3

Which of the following is used in a function to evaluate the current element from the Month dimension? 

A. \\'January\\' 

B. !January 

C. \\'Month\\' 

D. !Month 

Correct Answer: D 

 

QUESTION 4

The application developer created a rule to apply to all elements in a dimension yet the result does not appear. 

Which of the following would have caused this? 
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A. A rule impacting this dimension exists above it. 

B. A rule impacting elements in this dimension exists above it. 

C. A rule impacting this dimension exists below it. 

D. A rule impacting elements in this dimension exists below it. 

Correct Answer: B 

 

QUESTION 5

An application developer can either create a new cube or use which of the following automatically generated cubes to
look up data? 

A. Control 

B. Reporting 

C. Consolidation 

D. Virtual 

Correct Answer: A 
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